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Icroeconomics

The branch of economics that analyzes the market
behavior of individual consumers and firms in an attempt
to understand the decision-making process of firms and
households. It is concerned with the interaction between

iIndividual buyers and sellers and the factors that
Influence the choices made by buyers and sellers.

In particular, microeconomics focuses on patterns of
supply and demand and the determination of price and
output Iin individual markets (e.g. coffee industry).
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“ __ stEconomics

The field of economics I1s broken down into two
distinct areas of study: microeconomics
and macroeconomics.

Microeconomics looks at the smaller picture and
focuses more on basic theories of supply and
demand and how individual businesses decide
how much of something to produce and how much
to charge for it. People who have any desire to
start their own business or who want to learn the
rationale behind the pricing of particular products
and services would be more interested In this area.
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': :Economics

Macroeconomics, on the other hand, looks at the big
picture (hence "macro"). It focuses on the national
economy as a whole and provides a basic
knowledge of how things work in the business world.
For example, people who study this branch of
economics would be able to Interpret the
latest Gross Domestic Product figures or explain why
a 6% rate of unemployment is not necessarily a bad
thing. Thus, for an overall perspective of how the
entire economy works, you need to have an
understanding of economics at both the micro and
macro levels.
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Elasticity is a measure of a variable's sensitivity to a change in another
variable. In economics, elasticity refers the degree to which individuals
(consumers/producers) change their demand/amount supplied in
response to price or income changes.

Ca|Cu|ated as: Elasticity = % change in quantity

% changeinprice

Elasticity is used to assess the change in consumer demand as a result
of a change in the good's price. When the value is greater than 1, this
suggests that the demand for the good/service is affected by the price,
whereas a value that is less than 1 suggest that the demand is
Insensitive to price.

Businesses often strive to sell/market products or services that are or

seem Inelastic in demand because doing so can mean that few
customers will be lost as a result of price increases.
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Definition:

An indifference curve is a graph showing combination of two goods that
give the consumer equal satisfaction and utility. Each point on an
indifference curve indicates that a consumer is indifferent between the two
and all points give him the same utility.

Description:

Graphically, the indifference curve is drawn as a downward sloping
convex to the origin. The graph shows a combination of two goods that the
consumer consumes.
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A(10 units, 20 units)

Good A

B(30 units, 12 units)

Indifference curve U

-~

Good B

The above diagram shows the U indifference curve showing bundles of
goods A and B. To the consumer, bundle A and B are the same as both of
them give him the equal satisfaction. In other words, point A gives as much

utility as point B to the individual. The consumer will be satisfied at any
point along the curve assuming that other things are constant.
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